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Q6.
 
The correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.
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Q13.
 
The correct answer, unless clearly obtained by an incorrect method, should be taken to imply a correct method.
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Produced by Mr Adegboro
image5.jpeg
Question Working Mark Notes
Asc centre B cutting BA MIfor all relevant arcs (those drawn
and BCat Pand 0 from P and Q may fall outside
where BP = BQ and arcs guidelines)
drawn from P and Q
correct bisector | 2 | Al for angle bisector in guidelines with

all necessary arcs

Total 2 marks
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Question Working Answer| Mark Notes
@ 228180 (=48) M1 Canbe marked on diagram.
or360-228 (= 132) ie Full method leading to correct answer.
then 180 - 132 048] 2 | Al Accepts8
®) 10| 1 [B1
© 228118 (= 110)
(180-110") +2 (=
35) Mift  bearing from (a) + 35
“48” +35” 083| 2 | Al  accept83

Total 5 marks
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Question | Working Answer | Mark Notes
180+43 or M1 Fora complete method.
360—(180—43)
or 360 - 137

223 2 |a

Total 2 marks
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Ques | Workin; Answer | Mark Nates
a M1
mx250e0r2xmx
785 2 [ Al[785-786
b 47 70 MI | or for digits 188
10%="= oe or 10x-——oe
25 250
188 2 | Al [accept 19i£18.8 seen
Total 4 marks
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Ques Working Answer | Mark Notes
2 18000:50 or 50:8000 or 30 g 2o
50
160 Al
572, 500 |2 X10057160 2 [MI A comectmethod o
30°°0° | find the length of the
model, ft their answer
to (a)
4s Al cao (Ifans 1.6 (a)

then do not award
marks for 72+ 1.6 =
45)

Total 4 marks
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Question | Working Answer Mark Notes
One bearing MI
line at 260°
(£2%) orone
96cmline (= | Intersectionof2lines | 2 |Al  Condone omission of D label

2mm) from A

in boundary of
overlay

Correct position of D within
tolerance without any lines

scores MIAL

Total 2 marks
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Question ‘Working Answer | Mark Notes
@ 2 | MI Forapoint marked due
south of 4 or on a correct
bearing (within overlay)
from B.
Correct pomt AT wathin overlay
® | 168+ 1800r 360-12 7 | MI Fora complete method or
for clearly identifying the
reflex angle on the
diagram
348 Al cao
© 625 T [Bl o
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Question Working Answer | Mark Notes
@ | 781051000 or MI for correct conversion from m o
7.8% 10%ac or km or from km tom
81000 or
0.008
7.8 10°x 1000 = 8 or 7.8 MI (indep) award for digits 975
105 0.008 (eg. an answer of 9.75 x 107 gets MO
MI A0)
975x10°| 3 |Alcao
®) | 195100 km Blecao
M1 ft from (a) also award for
1.95x10°
773007 02k or 19x10° - 19x1
1.95%10 "9.75x10"" © "9.75x10""
75751007 C200mer op 19X10° 1910
195x10° o oo 7.8x10° 7.8x10"
1510”6
78010° (=200(m)) or
1.95x10%
L2 8 (=200
10" (=200(m))
NB: 195 may be the
candidate’s upper bound
200 3 | Al cao must be from correct figures

used in a correct calculation

Total 6 marks
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Question Working Answer [ Mark Notes
Number

2 x 25000 (=550000) MI_ or 25000 cm =

"550000" +100000 0.25km or 22 +100000

55| 3 |ML  or22x0250r

0.00022" X 25000
AL

Total 3 marks





image14.jpeg
Question ‘Working Answer | Mark Notes
345 +200 (=1.725) MI for a correct units
conversion (x100) or +200
3
MI for a correct units
conversion (<100) and 200
1725 Al accept 173 if at least M1

awarded

Total 3 marks
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Working Answer | Mark | Notes
BT+ 641- 223 86 ool ML correc use of Cosie | Award M2 AT for
(=197 ket fnd BC BC-89-89%
BC =) 1444+ 4096 + U3 EI9T) MI comect odder of
——— o7 or
AfrBC=89-89%ar |
57 or 2 o
WC_ @i Ml comectuse of e | Award M for
o1 8o oleor Cosine rale to find | C=38-385
64=3g e goris angle C
26387892 cosC v o
dnc- S0 oy o M1 conec retangement | 5~
e C=1%0-120-8
conc= 2EISOF (g
pETDY
c=38-365
53 N WO O]
‘lternative MT wscs trangle CAD and 4CAD = 60° o7 ACD=
CD i the perpeadiculas from C o 24 =
penduced. €D may ot be drawa i but can be implied
CAD=60°or ACD=30°
§ cos0° or 3 9530 (= 19) Mi for correct method o ind hrizontal length
419 (=83) AlforD=83
CD=3 85060 or 3 Seo30 3 9) AT
pcp 53 M
Y
a6s AL 68~ st

Total 6 marks
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‘Question ‘Working Answer Mark Notes
@ 3 M
cosx=— orcosx=
0.545(4545...)
) ot 60 M
(=) cos \110
569 Al 369-57
® [ 90-56.9(4426885..) oe 2 |Mifi for complete method. ft
033 from (a) if "(a)" < 90.
AlRt 90 - theirx
accept (0)33 - (0)33.1
orft
©@) 105 2 [ Bl
@@ 115 Bl eept 1145

Total 7 marks
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‘Working Answer | Mark Notes

cg. diagram drawn showing MI | interprets information
relative positions of 4, B and C

can be implicd by angle 4BC =

55¢
sinCABisinSS M1
95 180
(95 M1 | d
caB= [97] or P
180
CAB=25.6(1...)
AB= ML | dep or for
0 B
—xsin(180-55-"25.6")

sin 55

0
3
«

Al

Total 5 marks
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Question

Working

Answer

Mark

Notes

395 + 2.25

220

M2 M for 495+2.15 or 230.2.
rounded or truncated to 3 or more
sig figs

Al cao

ARerative

M1 for 495+135 or 3.6 or
3.666... rounded or truncated to 3
or more sig figs
Midep for “3.66.." x 60
AL 220 cao

Total 3 marks
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Question ‘Working Answer Notes.
(@) | 18+ 60 oc or MIfor changing time to a decimal
7300 728 0r 72 ar7x60+ a3
60 " '10
18 (=438)
. 438" M1 for speed » time
4307 F3" oearLle (allow 750 x 7.18 or answer of
e 5385)
5475 Al
For at Ieast one correct operation MI for one or fwo of ~1000. ~60.
(b) | eg 750 x 1000, 750 + 60 or =60
1000 s (can be implicd by 750 000 or
50x60 02 T g 12.5 ar12500 or 0.2083)
750x1000 _ MI_complete correct method
60x60
208 AT accept answers in range 208 —
2083
Alfernative mark scheme ft
from ()
5475 1000 (=5473000) OR MI
7% 60+ 18 = 438 and 438 x 60
(226280 (sec))
“5475000" = 26280 MI dep
complete correct method
208 AT accept answers in range 208 —

2083

Total 6 marks.
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Ques | Working A [ M Notes

a 3500~ 119 M1
2941 | 2 | Al [for2941-29412
b 8500~ 52 or 163(461.) MI MI for 8500 % 119 | M1 for 119+
=1011500 (=228..)
“163.461. % 119 MI | dep | MI for “1011500” = | MI for 8500 x
52 228...7

19452 | 3 | Al | for 19380 — 19520

< 2460 (=0.4) or 24 or M1
2

25 ocor
0

2% 60+24 (=144)

1534 =24 0cor MI | (allow 1534 =
(1534 = 144) x 60 0 685)

2.24 or answer of 684(82._.) or

639 | 3 | Al |for639-639.17

Total 8 marks
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‘Working Answer | Mark Notes
120+ 1002 (=0.012) or 810 M1
M1
67 500 3 [AlL

Total 3 marks
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Working Answer | Mark Notes
1 T4 3| MI | Altemative method
725 %55 (assigns values to
7 distance and average
0.800), 190 g0 speed)
5
d M1 for calculating both
“dr029s times comrectly
M1 (dep) for finding
Mon time - Tues time:
Montime
1-080eegl— 4, M1
100%—80%
20 Al o

Total 3 marks
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Question \Working| Answer Mark |Notes
Number
@0 30 _1_[BI
@ 20 1 |BI
® Horizontal line BI
from (140039)t0 | 2 | Blft ft ifline finishesat (1715, 0) (5
(1600,39) mins) andstartsat height 39km
Line from
(“1600,39)t0
(1715,0)
© 1325t 1330 BT Accept125pm t0130pm
1625101630 2 Bl  Accept425pmto430pm
or ftif line finishesat (17 15,0) (¢
5mins)and starts___atheight 39 km
@ 39125 M2 MIfor39=1.15(339.) or39=
e (39~ 312 3 |75(052)
75x.60) Al

Total 9 marks
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Working Answer | Mark Notes
arc centre Boutting BAand BCat | 2| M1
(say) Pand 0
arcs centres 2 and Q of equal radit AT dep

which intersect at R (say) and BR

joined (overlay)

Total 2 marks.
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Working Answer | Mark Notes

Arcs of length 6cm from A and B
Atc of length 10 cm from A ot B.

Correct thombus within overlay tlerance 4

5o B1 for correet shombus with no consiruction lines.

“Total 4 marks
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Question

‘Working Answer | Mark Notes
bisectorwith | 2 | B2 for bisector within guidelines with two pairs of
construction relevant construction arcs seen
arcs

If not B2 then B for a bisector within
guidelines with no arcs present or relevant
arcs present with no bisector

Total 2 marks





